Test Booklet Code & Serial No.

YU FIE o A

Paper-11
COMMERCE

Signature and Name of Invigilator Seat No.
1. (Signature) ......cccoecveeevviveeeniieeeee, . .
g (In figures as in Admit Card)
(NamMe) .cooovveeeiieiieeee e
SEAtINO. .
2. (Signature) .......ccccceeeeeeecciveeeeeeeeene (In words)
(NamMe) .cooouveeeieeiieeeee e OMR Sheet No.
APR - 50224 (To be filled by the Candidate)
Time Allowed : 2 Hours] [Maximum Marks : 200
Number of Pages in this Booklet : 32 Number of Questions in this Booklet : 100
Instructions for the Candidates WWW
1. Write your Seat No. and OMR Sheet No. in the space provided 1. qﬁgﬂgﬁ‘—,ﬁ- ST ST 9T =1 Wﬁ T I m
on the top of this page. N~ f e . . A~
2. This paper consists of 100 objective type questions. Each question J H TSl STUATh =1 shHI Taree] Tefgrel.
will carry two marks. All questions of Paper I will be compulsory. 2. TS YEIERA 100 @hﬁ YT 284, TIF ToE g Rk
3. At the commencement of examination, the question booklet :}TI%H 0 H%-—Hﬁiq\odlm 'H'of?l'i’:[ Trefam stfqerd C”ﬂ'l%’
will be given to the student. In the first 5 minutes, you are 3 qﬁg‘_ﬁ-ﬁ-ﬁ STEHTa forenestet weTatsehT ﬁ?ﬁa@awﬁﬁw 5
requested to open the booklet and compulsorily examine it as ’ i i f a
follows : 23 X g AT ST T T
@) To have access to the Question Booklet, tear off the REESIGH
Pagerksleal on}tlhe edge lgfthis iOVer Pagel; Dl.; IHOt accept @) T SHSATHIS T TETash o Tawe] Hiel S
a booklet without sticker-seal or open booklet. et e R IS mm
@) Tally the number of pages and number of questions in . m T
the booklet with the information printed on the cover @) %E a1 TeE TS HTTY Rk ] THa g%
page. Faulty booklets due to missing pages/questions THE YeTAehdi THI T & RERIC-A w%raﬁ
or questions repeated or not in serial order or any E%E-Tlf]' SR/ W STEeTe/ A ﬂﬂ'ﬂ?ﬂﬂv_ﬂ
other discrepancy should not be accepted and correct ﬂﬁ?ﬁmﬁﬂa AT TET TR =
booklet should be obtained from the invigilator within Y g
the period of 5 minutes. Afterwards, neither the Question 5 THiTrT= T aTshren T <% qF EEERIEED HETEH
Booklet will be replaced nor any extra time will be =7, ﬁTﬁTﬂ Wﬂﬁ’aﬂ TremT T'I'IET GEE] aﬁ!’zﬁ
given. The same may please be noted. EI'IEEFT ﬁqawn'{ :[FE;] =t W fa’g]‘[g;;ﬁ:ﬁ Hie =qrEt.
(iir) After this verification is over, the OMR Sheet Number ~
should be entered on this Test Booklet. (i) T AT 'HH(\HEVIIO%# thlavqlqu ERRRIEEZER
4. Each question has four alternative responses marked (A), (B), . TH. AR JAAF = TR Tefer=l
(C) and (D). You have to darken the circle as indicated below on 4. ‘;I@EF ‘JI'Q‘!W'IT:?[ (A), (B), (C) 391foT (D) awﬁ IR oy 'ﬁf{ ﬁ?ﬁ'
the correct response against each item. SATed. A IR ST T Eelt E?HEIQ_"‘JTW ST

Example : where (C) is the correct response.

5. Your responses to the items are to be indicated in the OMR @ ' @
Sheet given inside the Booklet only. If you mark at any place .
other than in the circle in the OMR Sheet, it will not be evaluated. 5. AT ?Ei;a o TR S aﬁ@?m’ mﬁ?ﬁam.

6. Read instructions given inside carefully. Wmmﬁmw G

7. Rough Work is to be done at the end of this booklet. 6. a1 Teeten A m&ﬁﬁ'ﬁﬁ =AM,

8. If you write your Name, Seat Number, Phone Number or put 7. TITUTS =1 el SIS ciedl Il YHE shed hH H{d.
any mark on any part of the OMR Sheet, except for the space 8 S ST 3 TG e T =i Frodt
allotted for the relevant entries, which may disclose your ’ 'Q:Fl % Er{- . - - ! - LR €
identity, or use abusive language or employ any other unfair A s 5 $
means, you will render yourself liable to disqualification. T 5_ 3@ a{\li % ?ZIEIT:lT ETHW = { i TR

9. You have to return original OMR Sheet to the invigilator at the 3‘:\"'\'1@' R TeTElT= |<’1| T U ST FEe o
end of the examination compulsorily and must not carry it with 9. R e formeat Ue o7 uH. SR, SRuH fhagHihe
you outside the Examination Hall. You are, however, allowed U HI0] AT TR, ﬁﬂﬁ,mﬁl a?rqqa:rr{ ELICIEEE
to carry the Test Booklet and duplicate copy of OMR Sheet on TEd= WA SIS AU Tereneatn TET aTR.

1o Lonclusion of examination. 10. e e fohe e el T aTat .

. se only Blue/Black Ball point pen. G St e i 2 N n

11. Use of any calculator or log table, etc., is prohibited. 11. Gl e

12. There is no negative marking for incorrect answers. 12. el A SIS TR TTA hel S g




APR - 50224/T1—A



APR - 50224/I1—A

Commerce
Paper II

it
gyueRt 11

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

TOAT @ A1 TRAUCThG THY TR (100) TgEE WEA fool ofed. Yo TRe & (2)

U7 STRd. T WYY Wi

Which of the following is not a

principle of WTO ?

(A) Free Trade

(B) Non-discrimination
(C) Fair Competition
(D) Discrimination

Disequilibrium in the balance of
payment is caused by which
economic factor ?

(A) Secular disequilibrium

(B) Religious disequilibrium
(C) Uniform disequilibrium
(D) Inconsistent disequilibrium

Identify a factor that doesn’t play an
important role in attracting FDI.

(A) Laws, Rules and Regulation
(B) Administrative procedure
(C) Cost of Resources

(D) Language

ATtk hIvd SIATfaeh <A geea<
(WTO) d<d =&l ?

(A) HF AUR
(B) favrmness 9Rw 7 sTEeaEn

(C) gara wei

(D) fademeress &R

NICEINEIni i oo e i Bed
Rl YT d 2

(A) Ufgeh/aTEd STHge

(B) #nfie er&ger
(C) HHAM STEgeH

(D) STHHEM T

TTefterdsht foRell goasl aavehian
(FDI) 3Tehfod S0 geid Hewer=l
Zo fO9E .

(A) Fe, frm 9 a3
(B) URTEHE Hfeha
(C) HEeAT=T T
(D) «ren
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Which of the following is not a

characteristic of joint venture ?

(A) Equity position held by each of

the partner

(B) Possible only with legally

incorporated entities

(C) Intent by partner to share in

the management

(D) One of the partners acquires

complete stock of the other

Who proposed the theory of

competitive advantage ?
(A) David Ricardo

(B) Bruce Kogur

(C) Michael Gannon
(D) Adam Smith

Which of the following is not the
level of Regional economic

integration ?

(A) Customs union

(B) Common market
(C) Economic union

(D) National union

APR - 50224/T1—A

[N o Y. L. N N A
Wlddlcdden] enlVIq Hderd SHonHIE AIRTSC
e ?

(A) T HUTMERM THYN ST9aK

(B) %o AR TATIH  HTAT

(C) SAIEUTYATd Ui eIl
eI He

(D) ek YRIER SR |6 HRTGRET HYof
qT ERO Al

@A TeTieh! ShIUTeT Tq¥fcHesh  eTT=AT

fagarEr S "o S 7
(A) =T faret

(B) 99 HTK
(C) I&ehd 1

(D) 3feH f=y
TeATAus! FoE @ fauria enfeem
TEAeN Hefyd @l ?

(A) SerTd T

(B) wMfesh SSTRUS
(C) anfeer wEwEiESt TH
(D) T &




Which of the following is not the goal
of Corporate Social Responsibility
(CSR) ?

(A) Ensure

sustainability

environmental

(B) Promote empowerment of

women and depressed classes

(C) Develop awareness about issues

of social concern

(D) To acquire benefits and tax

concession from the Govt.

Which of the following is not a mode

of entry to International business ?
(A) Direct exporting

(B) Indirect exporting

(C) Intercorporate transfers

(D) Personalised sales contract

Which of the following entry
strategy is adopted by Mcdonald’s in

International market ?
(A) Licensing

(B) Strategic alliance
(C) Franchising

(D) Acquisition

APR - 50224/I1—A

AW~ NS S
Wdlctben] enlYld eddl-i=dl  dlHIsIon

ST Sfee A ?

(A) vTYEd TATeomEl uRfEedt fAaio
Exul

(B) foram = Suferd avmien |e™ ol

(C) wrSe fear=n Hecareamed S

oo s

(D) TMEAERET &MY 9 Y Faeld W<
Exul

EATCTeh! ShI0Td AR T SR Ja9T
T YA AR ?

(A) v T
(B) sweder T

(C) STATehTt BT

(D) Saforeh Tl =R
EITATETURT ShIUTd W9l S HehelTee

L4 o N [aY [aY LN
GAIe [ dsiRYodlal Alen ] ?

(A) Y& Ysd

(B) &RUTHF Heh™
(C) fa=t ¥k (Franchising)

(D) gurEA

[P.T.O.



10.

11.

12.

Which of the following type of FDI
includes creation of new assets and
production facility in the host
country ?

(A) Strategic alliances

(B) Merger and acquisition
(C) Brownfield investment
(D) Greenfield investment

Which one of the following is the
example of representative personal
account ?

(A) Salary and wages account
(B) Loss due to fire account
(C) Bad debts account

(D) Pre-paid salary account

X and Y are partners sharing profits
in the ratio of 3 : 1. They admit Z
as a partner who pays ¥ 4,000 as
goodwill. The new profit ratio being
2:1:1 among X, Y and Z
respectively. The amount of goodwill
will be credited to ................. .

(A) X and Y as ¥ 3,000 and ¥ 1,000
respectively

(B) X only
(C) Y only

(D) Xand Y as ¥ 2,500 and ¥ 1,500
respectively

10.

11.

12.
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ETeads faeyit geael aau =
T ThRIHEN ISTH S 9Md a1 S

amifor seare shgre AT et S ?
(A) ENUTHE Hehr

(B) faferieror fn |deA

(C) wTsAfhee (Brownfield) fae

(D) dHfthes e

WIS WTfaffaeh  rforsh
EeaTe SeTRL ST ?

(A) a= sfor 7ed @

(B) STF{Hes Sieiedl B @i

(C) 99 sl @

(D) & °F o @

X for Y € e At 3 0 1
YU hidd. 1 Z @ 4,000 .
Treciicheh oA B Uow foar. &
T Fiaerd SO STH 20 1: 1
§ X, Y 3 Z Hed SUaue .
dAEadife® (TAE) Jeardl FhH
TIeAyeh! HIN TH FEA 2

(A) X s Y 91 S79R% 3,000 . 370
1,000 %. fooi wEd

o ¢

(B) X @1 wad feal Ssd

¢

(C) Y @1 wea feell SEa

(D) X 30 Y &1 31%H 2,500 &. 370
1,500 %. foeft Smed




13.

14.

15.

16.

By wayof .............. company can keep
its shareholders happy without
impairing the financial position and
liquidity of the company.

(A) Issue of Bonus share
(B) Issue of right share

(C) Red herring prospectus
(D) Opening escrow account

Pre-acquisition profit in subsidiary
company is considered as :

(A) Revenue profit
(B) Goodwill
(C) Capital profit

(D) Outsiders liability

The ratio of variable cost to sales is
70%. The B.E. Point occurs at 80%
capacity. Find 100% capacity sales
when fixed cost is ¥ 6,00,000.
Assume that P/V Ratio, variable cost
ratio are complement each other.
(A) ¥ 25,00,000

(B) ¥ 20,00,000

(C) T 30,00,000

(D) ¥ 40,00,000

What is the index of conservatism
in capital structure ?

(A) Working Capital Ratio
(B) Operating Ratio

(C) Price Earning Ratio
(D) Proprietory Ratio

13.

14.

15.

16.
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O] STEEET ST TAdeR hIvdTe!
foufra guare F =madr YA A=A
YATHIReR AT HIMIER G % IEhd ?

(A) &9 9T faswt wEA

(B) Tk WM fosnl e

(C) Y= = wfedt TR

(D) TEH @4 3HSH
YR HE T SAEuIEET o &
........................ -]

(A) HEHell oY

G RISRGIERIETD,
(C) wredet oy
(D) =&l wef=l el

farspleil 9 ditedd aTud 70% 3.
gAfa=ee fag 80% &THde T 8. S
et =19 6,00,000 %. A W 100%
=[] e STUI eIl 3ehel TR
Y TEd 1.

(A) 25,00,000 =.

(B) 20,00,000 =.

(C) 30,00,000 =.

(D) 40,00,000 =.

qieaar=a EAdia Sear! ases
Qefaden] 0@ 38 7

(A)
(B)

(&)
(D)

HEYE qead STU

qR=ETe ST

ferra fHessha STIU

e ST
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17.

18.

19.

20.

The Audit that is compulsory as per
the Law is termed as a ..............

(A) Statutory Audit

(B) Management Audit
(C) Internal Audit

(D) Balance Sheet Audit
AS-15 deals with :

(A) Employee benefits
(B) Lease

(C) Construction contract
(D) Impairment of assets

Activity Based Management aims
at:

(A)
(B)

Improving general management

Eliminating non-value adding
activities

(C) Identifying costs with cost

drivers
(D)

Managing the normal loss

The replacement cost approach for
valuing human resources was
developed by :

(A) Pyle

(B) Rensis Likert
(C) David Watson
(D) Shultz

17.

18.

19.

20.
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SHTIGITTHI TR STHUTAT 37eh &Toetl
................... EH@. w‘

(A) AUTH  sTeherm

(B) HATATThRIT &0

(C) 3T ieherm

(D) TEEE SR

AS-15 | HIET Hedlq e ?
(A) FHHAE 1Y

(B) W€ @@ (Lease)

(C) &M A

(D) Herwd o

HTATET ARG STTEIA=E] 3890
TETAdeh! IV T ?

(A) HHEM ARG GO

(B) HoadaTe T IOl HIEAAT HHI
0!

(C) ufier aTeeRiseyid ufterg fuifa
0!

(D) 9H g™ SHEEIT9E o

el HHTEAT HeaTeh vl Hfceema
aftema gftek Il faskfaa wen .
(A) 9= (Pyle)

(B) TiE® fethe (Rensis Likert)
(C) =g diedd (David Watson)

(D) e (Shultz)




21.

22.

23.

24.

Business economics 1is micro
economics in character, this is so
because :

(A) It studies that problems of an
individual business unit

(B) It is related to resources
(C) It studies the market
(D) It influences on national income

The main objective of business firm
is to :

(A) Undertake a process of
production

(B) Undertake profit making
process

(C) Undertake social activities

(D) Undertake national activities

The cross price elasticity of demand
for products Rolex and Bollix is 10.
It implies that Rolex and Bollix are :

(A) Substitutes Goods
(B) Complements Goods
(C) Independent Goods
(D) Inferior Goods

A consumer consuming two goods
will be in equilibrium when the
marginal utilities is from both goods
are :

(A) Maximum
(B) Minimum
(C) Equal
(D) Zero

21.

22.

23.

24.
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S FATTE WEY § YA
M R, 3 T HROT

(A) © Teh! AEHIHeh HoEA=A1 G
I L

(B) & HHEIEASH Heifad 318
(C) T INTRUSHT I i
(D) ® TS SRR T9E

eEaE el (FeeTdl) e I3

B TR

(A) ST W gE

(B) 7w wHAfGUAT WA & HL0
(C) Hmifsr & & F0

(D) T HE & FHO

[ )

SR AT favemd (ST Tar=ehdl

Ay 1107 Sietfed a1 Scaeadel 10
3R, T Yook AT Siefied & 3caed
Tﬂtﬁfﬂ?{:

(A) I T

(B) T o
(C) s aw
(D) HiT8 o

Toh UTeeh QI &l STHNT BT HawH
THIEM U & Ikl STeal Qiel o]
a ST & TR

(A) HEH
(B) foramH
(C) ¥HM

D) I3

............
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25.

26.

27.

If a change in all inputs leads to a
proportional change in the output it
is case of :
(A) Increasing returns to scale
(B) Constant returns to scale
(C) Diminishing returns to scale
(D) Variable returns to scale
Marginal product of labour is the :
(A) Cost of employing labour for

producing one more unit of

output
(B) Change in output from using
one more unit of labour
(C) Change in revenue from selling
one more unit of output
(D) Change in revenue from using
one more unit of labour
Match the following :

List I

Total cost

Marginal cost

(@)
)
(c)
(d)

Average cost
Average variable cost
List II
(z) Total variable cost + quantity
(ir)

(zit) A Total cost + A quantity
(tv) Total fixed cost + Total variable

Total fixed cost + quantity

cost
Codes :

(@ B © (@@
A) @ @) (@) (Go)
B @ @ @) G
©) Gv)y Gy @) @)
D) @) Gv) @) @)

25.

26.

27.
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e SRMHHE Sgelr=a] SR S]
g%qw:a aeel B ITEE T E S

(A) Ff (aTedr) TRAm Y™

(B) feer qfmmn gam™

(C) =eHvH gAY

(D) wIgerdl 9iHET o

ST G Soasl WO

(A) TR SR=A1 T SedIe SIvg Tl
ITIIT SVTeed SHABET fhad

(B) Weh SIET H HEAT dT9cHT 3calqAId
EFE!

(C) Weh & HH HMEAT AL 3G Id
EHG|

(D) T ST 419 A=A ST
2] e B | B

el e

(@) TR SAdl FF + Icdgd T
(i) T e =@ -+ IR T
(iii) THU I A + IeqRARE A
(iv) TR o) =9 + THU agorl a9

wigar :

(@ & © @
A @ G Gu) (@Gv)
B) @ O @) Gv)
©) Gv) @) @ @
D) @i G @ @
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28.

29.

30.

31.

Under which competition a firm
exercises some control over the
price ?

(A) Monopoly

(B) Perfect

(C) Monopolistic

(D) Oligopoly

In pure oligopoly there is

competition among :

(A) few firms producing identical
products

(B) few firms producing different
products

(C) few firms producing essential
products

(D) few firms producing electric
products

To achieve efficiency in the use

resources which pricing policy is used

by regulated Public Utility

companies :

(A) Peak-load pricing

(B) Tariff pricing

(C) Interdependent pricing

(D) Transfer pricing

The cost of retained earnings to the

shareholders is basically

(A) a dividend that would be paid
to shareholders

(B) an interest that would be paid
to the bank

(C) a marginal cost on capital
invested

(D) an opportunity cost of such
funds to shareholders

28.

29.

30.

31.
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IV A HWESAT ®IEl YHOMd
fprdiey e 3% eha 2
(A) THIHFR
(B) 4o wqui
(C) TeRTTHEhIgR T
(D) STTHRR
IS SACTTURRIT e e 9] 379 ¢

(A) USHTHM S IO hTel TET

(B) 3T9AT IcUEA hIU=IT hIEr H&q

(C) TETaS TR G HLM-4T FHIE|

e

(D) 9IS IURA HIOMAT el T

TYIEATAT HTITAY0 SYFIT qreg
TS TSIk ST hq-=ATqe
FIU fRTd |0 IUART ST ST 2
(A) HA R foheq

(B) wi&m@ fhud

(C) TREREes e

(D) B fRAd
A SRR iEr SAfaa
I=rg & HeA
(A)

TS TATH

............

AT el STs IR T
IR bl

FAferantemen foel
TSI TRl

(C) Tafaciean Wieaar=l WM TR
(D) HTTHRERRRal aen fefi=n dure
e aiem

(B) ST | T

11
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32.

33.

34.

The tax benefit is attracted in case

of which of the following element of

cost of capital ?

(A) Cost of equity

(B) Cost of preference shares

(C) Cost of retained earnings

(D) Cost of debt

Which of the following is not a

feature of optimal capital structure ?

(A) The company should make
maximum use of leverage at a
minimum cost

(B) The capital structure should be

flexible to be able to meet the

changing conditions

(C) The capital structure should

involve minimum dilution of

cost of company

(D) The company should make
minimum use of leverage at
minimum cost

Average Investment =

Initial Investment + Salvage Value
2

(A)

Total Investment + Salvage Value
2

(B)

Initial Investment + Depreciation + Salvage Value

(&)
2

(D) (Initial Investment—Salvage Value) + 2

32.

33.

34.
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Aeeer=a1 UNIar=41 IVl SEhTEeyd
ETCLEE T e e i |
(A) THYRET 9y

(B) Yeliferh W= e
(C) @fva avrn aied

(D) o= g™

T Tadeh! wIVM faemge  diead

T Afitseg W A ?

(A) ®YRER *H w1 gfegan
gfdqyerT= SIfeeRad 3N sl

(B) HTEaelr= 9L seeled TRy

oSN

TEY Tefoeh el dfes

(C) Wrede HI=-=A1 HILTHIH e

afieaTen <Aad S USH el

arfest

(D) HYAH FTGHTET FAaH TR

ATH YN hell dIies

T A =

RIS AU + I Yoo
(A)
2
Tkl v + I oA
(B)
2
YRf49eh AU + HEN + I8 e
©)

2
(D) (YRF aave — 8 Jed) + 2
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35. When the current liabilities exceed | 35. Se81 =@ S¥ai= YA Fel HoUwi=
the current assets the situation is FHTUTAET S STHl, ST ARiede
S 34_@ .

(A) Gross Working Capital (A) Hehel el W
(B) Negative Working Capital (B) THRIcHH =l Hree
(C) Temporary Working Capital (C) T = RIEEK
(D) Adjusted Working Capital (D) THEIfSG =@ Jread

36. Which of the following is not a non- | 3¢. wWelcUsh! HITET SETH  ATaTqenT
diversifiable risk ? & ?

(A) Interest rate risk (A) TSI SIS
(B) Purchasing power risk (B) HIVERT e
(C) Operating risk (C) =& S

(D) Market risk (D) ISR e

37. Which of the following is not feature | 37 EEiei=st faesft faffmy seRUST
of foreign exchange market ? oy w2
(A) No existence of physical

location of market (A) seRIce ifter st &
(B) The mammoth size of the (B) SISO ST SRR
market
(C) Foreign exchange market works (C) faawn faf vy S=IUS 24 x 7 &
on 24 x 7 basis F F
(D) It is not an organised market
like other financial market (D) T ferfar ST Hfed et

38. Which of the following is not a | 38. WIclieUshl IV TF T e Tl
technique of hedging ? SEBRIEE I TN SV STd 8l ?
(A) Swaps (A) TETUEETY (Swap) T
(B) Options (B) dehfed® (Options) T
(C) Futures (C) @m@& (Future) @

(D) Spot (D) &R (Spot) T
13 [P.T.O.



39.

40.

41.

42.

An Indian Company can raise
finance from the American investors
by issue of which of the following
financial instrument ?

(A) American Depository Receipts
(B) Global Depository Receipts
(C) External Commercial Borrowings
(D) Promissory notes

The current bank interest of America
and India are 4.5% and 8.5%
respectively. The present spot
market rate of exchange in US $ is
% 62.10. What would be the twelve
month forward rate ?

(A) 67.37

(B) 64.47

(C) 62.10

(D) 66.10

When an observation in the data is
zero, then its geometric mean is :
(A) Negative

(B) Zero

(C) Positive

(D) Cannot be calculated

Karl Pearson’s coefficient of
skewness lies between
(A) ()4 and (+)4

(B) ()3 and (+)3

(C) ()2 and (+)2

(D) (9)1 and (+)1

39.

40.

41.

42.
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IRAE HOH] SRR [AaUhaNeh ST
Tt sreren ford SYROMEIS! v forita

LA ST & Yehal 2
(A) eaf feuifeaedt fifaed
(B) "o fediferedr fifaed
(C) 9T&l ATAR ksl IHROA

(D) d=9a (HieEd)

AR 37T YR =1 S < "iaad

ATSIGY C"ﬂj%ﬁ 4.5% I 8.5% 3Ted. AT
fafrmarn @ s AfET el
62.10 %. ®. T 12 AfE=Ar=1 9REl

TR X HE AT 7
(A) 67.37
(B) 64.47
(C) 62.10
(D) 66.10

SR FHeRTHEE Hifed 9 (Data) e
I oTHE T W i we

Y.

(A) THRHFR

(B) T[A

(C) HhRIcHsh

(D) TUET HAT IO ATl

Frel TUsTE= fasd! o @reiiereh]
R UGS T9al 2

(A) (94 & (+)4
(B) (-)3 3T (+)3
(C) (92 afor (+)2
(D) ()1 &fr (+)1

14



43.

44.

45.

Regression analysis uses to study

(A) The degree of association

between variables
(B) The data variability
(C) The alternative best solution

(D) The casual relationship between

two or more variables

A box contains 8 white and 3 red
balls. If two balls are drawn at
random, find the probability that

one is white and one is red.
(A) 3/55
(B) 28/55
(C) 24/55
(D) 4/55

In the context of testing of
hypothesis, which of the following
hypothesis is being tested ?

(A) Alternative hypothesis
(B) Null hypothesis
(C) Alternative and null hypothesis

(D) Descriptive hypothesis

43.

44.

45.

APR - 50224/T1—A
JfaITHA Ta9eIoo 8 ShIvel ST%THTHIe!
UL SR ?

(A) TAEE ATeed AU Fedm

(B) WHFET UfadTeiieran

(C) 9IiEt I\ =9

(D) S fodr SR TAETd SRR
ey

et JETAES 8 U@t 3T 3 et =g .

SR EH =g Saftee gsdy Ty

e T U] T el ST T o

g frEvarh gy e Wwie 2
(A) 3/55

(B) 28/55

(C) 24/55

(D) 4/55

TEdaed qUETAl HeHid et ierdent
FIG TEIG dE THG g ?

(A) Sepfeas TEiaae
(B) I TEAde
(C) Sehfeds amftn 3= TRdaea

(D) SoiATHS TRIdae
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46.

47.

48.

49.

50.

The coefficient of correlation :

(A) varies between + 1

(B) has no limit

(C) can be less than 1

(D) can be more than 1

Which of the following factors does

not usually affect the width of a
confidence interval ?

(A) Sample size

(B) Confidence desired

(C) Variability in the population
(D) Population size

Which is a necessary but not

sufficient condition of the test of
goodness of measures ?

(A) Test of validity
(B) Reliability

(C) Measurement

(D) Test of sensitivity

Which one of the following

statements is false ?

(A) o (alpha) is called Type-I error

(B) B (beta) is called Type-II error

(C) 1- a (alpha) is called power of
the test

(D) 1 — B (beta) is called power of
the test

Which of the following samples is not

a probability sample design ?

(A) Quota sample

(B) Stratified sample

(C) Cluster sample

(D) Systematic Random Sample

46.

47.

48.

49.

50.
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TEHSY U WUN U e

(A) + 1 7&d sEel

(B) Rl HART TRl

(C) 1 U&m =l 31Tl

(D) 1 Tan S 3TEl

ETeTeTdeh! ShIvTdT Seeh T fagamd

TEATER TRUMH i e ?

(A) T HTHR

(B) Tavamm=l 3=

(C) dAeSHEEIdd fafas

(D) TISTHEIE 3hR

WA Il STAASAT  3Teh-Ta=A

U] YIS W T S ARl ?

(A) S ==

(B) forgastera

(C) HIsHT

(D) Gl ==l

EeeTdshT v faum s e ?

(A) o (alpha) ¥ 2r&Y I 32 wWUEE

(B) B (beta) ¥ 20 II & =Ur

(C) 1 — o (alpha) & =T=UM=E! Ik
T

(D) 1 - (beta) & A== IR TBUEC

TEATCTiehT IOl T AT T

TEq garfase 3d Al ?

(A) fe= (Quota) AT

(B) =rfigd (Stratified) T

(C) Tqg 9

(D) TSR SafeeE T
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51.

52.

53.

Which of the following is not a

specific requirement for being a

successful Human Resource

Manager ?

(A) Understanding of legal
requirements

(B) General Management skills and
abilities

(C) Fundamental understanding of
other functional areas

(D) A degree in Human Resource
Management

When organisations are downsizing

the number of employees in a

particular hierarchy, this strategy is

termed as :

(A) Growth

(B) Retrenchment

(C) Stability

(D) Business

A National level hotel chain

established a plan that describes,

how top managers will be promoted

the
overtime, this is called as :

throughout organisation

(A) Demand forecasting
(B) The social context
(C) Empowerment

(D) Exclusive succession

51.

52.

53.

APR - 50224/I1—A

YT U GHIEE oL RIVATHS]
WTeferient IR AfeTsequl 312 STavas®
T ?

(A) Tast faurmen =l 9= qfgd

(B) WM HOEIT9d hi9led o Tl

(C) B wEicHeh TavmmT=i geryd Arfedt

(D) T TEEA SHETIATEl Ul

were fafsrse gviidia sa=Fa
HISAGAR ARAT®T U h{TATA
....................... 31@. w.

(A) L droy/faem 8o

(B) FUM (FHARI FHUC) ERO
(C) feergar &rm

(D) =HHITF R

were fafime wramEda g
A= YEeH ATl ST

STARRIYT SAAEUIhRTT Tedooeh
ERISEREIRER: o R Y U

(A) AU qESTH
(B) wrifsres weY
(C) HeTHTeR{ul

(D) 39 ITUrgeil e
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54.

55.

56.

Which of the following is not a likely

factor in determining an organisation’s

compensation strategy ?

(A) The organisation’s ability to pay

(B) The organisation’s legal context

(C) Location of the organisation

(D) The organisation’s  job
classification system

Which of the following factors can

enhance the effectiveness of

collective bargaining ?

(A) Middle level management

(B) Lateral factor

(C) Vertical factor

(D) Strong unions and effective
leadership

Which of the following theories

states that people are motivated by

existence needs, relatedness needs

and growth needs ?

(A) Herzberg theory

(B) Maslow theory

(C) Alderfer theory

(D) Vroom theory

54.

55.

56.

APR - 50224/T1—A
HEASA S 9 &gt G e
WUk HI0T B2 Heendl A8l 2

(A) TEe=t TeA Hoar=l qHdl
(B) Teea=1 9 HeY
(C) T9ew T e

(D) TEEA=N S RO Ugd

TR IVl Seah THfadh el

GUTeIeHAl aTee Tehdl 2

(A) FEH Ol ST

(B) fagder TiHR =2
(C) 3TU ¥Hh

(D) | HERAT A gl Aqe

@ETeTIeh! v g e

foToTeh TR, TLER, S fooeeh TS 27107
fashT® IS ATHT sFEFr Aty |
BT ?

(A) wier ogr
(B) wreen fogma
(C) sreetH fHgd
(D) == fasm@
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57.

Which of the following statements
describes business ethics ?

(A) Business ethics is cognitive
theory

(B)

(&)

Business ethics is regulation
Business ethics is related to
norms

(D) Business ethics is applied ethics
that studies moral standards
and shows how these can be

applied to businesses

57.

APR - 50224/I1—A
T HI0a faum =goarias

nes >

Hifare fese s ?

(A) =Fgrfas ifaa 81 aaHee
fagm sme

(B) =refe: Hifcw & M @ &)

(C) =gaarfgw Hifaawn & fafasfia

(D) =gawTgess AIfqu=<n & sS9aifsq

fifaaen srgA Aifaras wrET

HEGTATT HIMIhRR STAITeTa iard

58. Which of the following techniques is | 58. HeeAdIA Ydieh HEA A& ged Feifa
used for determining the relative FHIOHEE HI0d o a9 S ?
worth of each job in the e

I (A) SHMARRE JEIHTIA
organisation ?
(A) Performance Appraisal (B) ®H @S]
(B) Job design () ¥ T
(C) Job evaluation o
D fererem
(D) Job description D)

59. Which of the following is not a type | 59. WIileTueh! R FehITeA] HTHHAT]
of organisational development eAHF foehrd hrewHe quee g
: : Tl ?
intervention programmes ? .

(A) Team Building (8) w1 Fife
(B) Survey Feedback (B) weeam™
(C) Leadership development ©) N
(D) Case-study (D) S
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60.

61.

‘Theory Z’ describes the major
postulates of which management
practices ?

(A) Indian management practices
(B) British management practices
(C) Chinese management practices
(D) Japanese management practices
Match the following :
Group A

(@)
)
(c)
(d)

Money market
Capital market
Primary market
Secondary market
Group B
(1)
(2)

Newly issued securities

Long term financial

instruments

Short
instruments

3) financial

term

(4) Stock Exchange
Codes :

(@)
A D)
(B) 3)
© @
D) 3)

(b)
4)
(2)
(2)
4)

(c)
(2)
(1)
(3)
(2)

(d)
3)
(4)
(4)
(1)

60.

61.

APR - 50224/T1—A

‘gre Taga’ FIU FERATTT TG
TEIqeRER G o ?

(A) YRAE FEEaT ggdl

(B) ToEI9T =Ha=emdq g5
(C) Tot =ao=amH Ygd
(D) UM SHTEAT gl

e ool
T ‘I
(@) 3l &N
(b) HrSed HSY
(c) WA =TSR
(d) 9 9NN
T T
(1) armiftad gfaedr
(2) TrEwEE faxdita FHen
(3) e fomie wHer
(4) T R
W :

(@ b)) @© (@
A O @ @2 O
B @& @ QO @
e @®» @2 B @
D 3 @ @ @
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62. Which of the following is included | 62. fae¥ft =N =& @elciyehl &M
in the definition of foreign bank ? Taas B ?
(A) A Bank having head office in (A) HH AW geAed A foRe
India and operations abroad FAR =TER
(B) A Bank having head office .
abroad but operations in India (B) dehd HEAE (9G¥ A HRUR
(C) A Bank having head office WIS =TTl
?bgpad with no business in (C) F3 e T A SR
ndia
HIAET HRHR
(D) A Bank which is established o e n o e o
abroad and having subsidiary (D) 9= 193 G I ]
in India TRA SThTAT 3R
63. The Reserve Bank of India | 3. yidy REe sl dioran S0 SHsEL R
influences lqu.ldlty and interest i\q-\-nq H‘Hr‘qﬁ‘ dT9%4d 94919 m’
rates through a number of operating EeER T SHE AR ?
instruments. Which among the .
below is incorrect ? (A) FeAT SISRIAE SRR
(A) Open Market Operations (B) GG faseqey (3 TX)
B) R "
(B) Repos . ©)
(C) Change in Bank Rates !
(D) Distorted Bank Policy (D) SRR el
64. Which of the following can be | 64. wrcfieTi=ht T AT Tafem R ?
regarded as reinsurance ? . )
(A) A Ltd. has undertaken a risk in @A) = A
collaboration with B Ltd. el
(B) A Ltd. has undertaken a risk. (B) 31 FUH Sy Sett, d e Siey
The same risk is later 5 A ey &
undertaken by B Ltd. from A ) A selel Shlelie iR
AR Hae
Ltd. 3
(€) A Ltd. al?d_ B Ltd. came (C) 3 Syl 0 & FHUAT Tehol 3Tl
t?gether to jointly undertake a R Hﬂ%‘«lal SENIF S
risk
(D) A Ltd. has undertaken a risk (D) & HYAH TG IAAA! AN &
and cancelled el
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65.

66.

67.

A money market where funds are
traded up to a period ranging
between three months to one year
is :

(A) Call money

(B) Notice money

(C) Term money

(D) Liquid money

Unsecured short-term promissory
note issued at a discount by credit-
worthy corporates, primary dealers

and all India financial institution is :
(A) Commercial Bills

(B) Commercial Paper

(C) Certificate of deposits

(D) Treasury Bills

Which Act among the below is

governing specific banking function ?

(A) The Indian Coinage Act, 1906

(B) The

Act,

Bankers Books Evidence
1891

(C) The

Act,

Negotiable Instruments
1881

(D) The Banking Companies Act,

1970/1980

65.

66.

67.

APR - 50224/T1—A

5T SSRGS T i Afgs o T auie
HTAGETT BT STIRIAT 318 W0

(A) ATt S WA
(B) = A
(C) = A
(D) W @A

IS HeTHSos, WeifHen fashd enfor s1fee
AR fair Sen I STI8RIer Shieeicdl

STa, STeUhIei Tafyd ==

.................

(D) HIEMR g
@ITeATeTdeh] IOl el TorsTe sffeh

[ 2

[lha
enl-ld |

-
T4 Hdl 7

(A) YA 2o HhEel, 1906

(B) #hd CrETIEIS TET HTFET, 1891

(C) W faer@ =T, 1881

(D) <ifeT HUAT FEST, 1970/1980
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68.

69.

70.

71.

Which of the following is not a

challenge faced by business

correspondents model ?

(A) High maintenance cost

(B) Small size of transactions

(C) Low telecommunication access

(D) Physical proximity and access
with customers

Which of the following is not the type

of digital banking ?

(A) Unified payment interface

(B) Internet Banking

(C) Mobile Banking

(D) Central Banking System

The cause of loss must be direct and

an insured one in order to claim for

compensation. Which principle of

insurance mean the above ?

(A) Principle of Indemnity

(B) Principle of Subrogation

(C) Principle of Causa proxima

(D) Principle of utmost good faith

Which one of the following is

controllable variable of marketing

management ?

(A) Environment

(B) Competition

(C) Consumer

(D) Price

68.

69.

70.

71.

APR - 50224/I1—A

ST Ta1 8L (Business
Correspondence) WfTHMAT JEietushi
HIVH SATRHA] die e ard el 2

(A) =T @Y Ui
(B) =¥aBN= B WHI
(C) T TR HHT ST

(D) UTEHRIIN ifaes ot efor
STAST

ETATAUh] STl A% (fested)
SfehT=l YR AR 7

(A) FHPEE TH $Tha

(B) etie wfnt

(C) HremEel SiehT

(D) &3 ST Sae

TRET YRATE S Sra fargRIAT S ST

TRETH R Tege] ST, 8 sl ol

ErincitiE i il
(A) THIE WRUEY T
(B) WA T

(C) frea &Rw o
(D) Ui fowemd aw@

foque SETATIATT EITeileTdeh! <hIOTd

e TEuqe™ otEar 2
(A) THTERT
(B) =qet

(C) UtEsh
(D) feprma
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72.

73.

74.

75.

A group of closely related products
constitute a ................... .

(A) Product Mix
(B) Product Quality
(C) Uniformity

(D) Product line

What are two ways of increasing line

and length in product
management ?
(A) Line extension and category

extension
(B) Brand extension and product
extension

()
(D)

Line stretching and line filling
Line elastic and category
extension

Which one of the following models
describes that buyer is a rational
man and his buying decisions are
governed by the concept of utility ?
(A) The learning model

(B) The systems model

(C) The economic model

(D) The psychological model
Which one of the following
represents consumer’s reference
group ?

(A) Hybrid groups

(B) Digital groups

(C) Media groups

(D) Intimate groups

72.

73.

74.

75.
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3 HAATT= Tedid  Scaem=T

EORE ARAUATE T THE AW I ?

(A) IIRA IREen fosar 3 9ot faar

(B) To=ieht 9 sce" fawr

(C) 3cUEH YEen far 9 Sferen gt

(D) IEA el aar=ehal 9 A0 R

Ulesh B Uk ook U8 <kl 3TEH oI

frote ST=Ifc=n Hehedan
JYrEld B ¢ a9 som wfda ™ S 2

(A) Femaq gfqaH
(B) WuTell 9idA™
(C) amforer wfqem™

(D) HAERTETT AiqHmE

JEITush! IVl e e T e
yidrrere e ?

(A) Tehfld T (THY )
(B) ¥ T
(C) HIZ"gH T

(D) a1 T2
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76.

77.

78.

79.

The habit of the people to analyse
the information completely and

interpreting, it is called as
(A) Self-actualisation

(B) Selective attention
(C) Selective distortion
(D) Selective retention

Which of the following is not a
pricing method ?

(A) Differentiated pricing

(B) Cost based pricing

(C) Affordability based pricing
(D) Leverage pricing

Which of the following is not a

unique feature of services ?
(A) Heterogeneity

(B) Intangibility

(C) Perishability

(D) Durability

Which of the following metric is used

for measuring customer value ?
(A) Short-term value

(B) Relationship value

(C) Satisfaction value

(D) Customer life time value

76.

77.

78.

79.

APR - 50224/I11—A
TiTehT=! W0l Afec! WG LA ST
eI SATATE gl AL T BUS ¢

(A) SACAYRIHT

(B) fergsr @&t @rer

(C) THaes fadi

(D) Treres aRom R

Grefieriesnt v fhAad Tgdr e 2
(A) faderes fema

(B) uiemm smenfid fened

(C) formmmeit emafa fema

(D) emvyHE feRad

Taren AT TR TR v
afeTe THHE HES 9 ARl ?

(A) fafauam

(B) 3€gaa
(C) -merEd

(D) <RI SR

qTehHcd HISTHIY 0TS S erien]
10T TRHETOT SO Sd ?

(A) STYHTAH T

(B) TERESY oo
(C) TMHA HEd

(D) TTEeh TS o
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80. Which of the following refers to a

81.

82.

situation in which a company or
brand seeks to ride on the publicity
value of a major event without

sponsoring the event ?
(A) Dependent marketing
(B) Survival marketing
(C) Ambush marketing
(D) Skill marketing

Which among the below is essential

for a valid contract of agency ?

(A) The agent need not have

capacity to contract

(B) The principal should have

capacity to contract

(&)

Consideration is a must for

appointing an agent

(D) The principal should not be

competent but the agent should

be competent to contract

Quality or fitness of goods for any

particular purpose has no ............ .
(A) Implied Condition
(B) Implied Warranty
(C) Express Condition

(D) Express Warranty

APR - 50224/T1—A

80. Sl TEE ®HUdl Agal fo=s TEE

81.

82.

ST e YR 7 LA o e
AR TIAA Y S0 WAH hid ST

gRfeerda Y UK.
(A) Eest foarm

(B) SuLSI{de HAYET SSRUSA ook
TRUIMEI hafel UM

(C) 3Tk 2sRAY faquH
(D) HEred faguM

SR IS JTETeh! 3hIoTeT

S g B0 SeRIE IR ?

(A) WfaFeTsi HIReHd=l avdahdl
e

(B) W@ HE iR HIvAT=! &7Hdl
AU AETIH 3T

(C) wiifei=n el afawa 3
ATEITF 3R

(D) ST HIRH TG Tl WiArTemarsm
TN & STH0 A6y 378

T S e T

I IS SETAF AR ?

(A) mEd 3

(B) efeared BHT

(C) giHfy=a s

(D) gfafeea g




83.

84.

85.

86.

When transfer of property in goods
is to take place at future time or
subject to some conditions thereafter
to be fulfilled, the contract is called :

(A) Contract of sale

(B) Contract of future goods
(C) Contract of specific goods
(D) Agreement to sell

Non-acceptance is a valid mode of
dishonour for :

(A) Cheque

(B) Promissory Note
(C) Bill of Exchange
(D) Bank Draft

Which among the following is not
a content of memorandum of
association of a company ?

(A) Name clause

(B) Liability clause
(C) Capital clause

(D) Preliminary clause

Which of the following is a
horizontal agreement ?

(A) Cartel
(B) Exclusive distribution
(C) Resale price maintenance

(D) Tie in arrangement

83.

84.

85.

86.
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Sieg] eIl hUAEd ST TelH
fersarehieaid S7efe =hrel fafire e
Jadal BOMY 3THd degl & el
........................... aq@, w.

(A) fas=n IR

(B) vfasaerreld aeq=n &R

(C) faftre axg=n IR
(D) fowmi=n =@

Eele TR T dgvia sraitahdt
B SFRYEl 9y HE e :

(A) &A™
(B) w=Atag
(C) g=I
(D) &R

FUATAT  EEATEAT (BT )
WeleTieh! ShIve qEedral FHEE B
e ?

(A) T g SUAE™ (AH)

(B) <T@ 3UATH

(C) Wisad SUaTHI

(D) Rfysw I

EITATETUehT ShTOTdT SdTe Bl Tarfeast T

(A) SMIR/IOGF T
(B) eritepel ferewor et
(C) Aot forma wH
(D) AT frma <@
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87.

88.

89.

The advantages of which forms of
business organization is
incorporated in Limited Liability
Partnership (LLP) Act, 2008 ?

(A) Private Ltd. Co. and Public Ltd.

Co.

Sole proprietorship firm and

(B)
partnership firm

(C) Partnership firm and Private

Co.

Partnership firm, Private Ltd.
Co. and Public Ltd. Co.
Which section of Information
Technology Act, 2002 deals with

hacking of Computer system and its

(D)

penalties ?

(A) Section 65

(B) Section 66

(C) Section 62

(D) Section 67

Right to information is not about
seeking answers and asking
questions, this statement is very
closely related to which section of
Right to Information Act, 2005 ?
(A) Section 3

(B) Section 2 (h)

(C) Section 2 (n)

(D) Section 2 (j)

817.

88.

89.
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qIffed YeR=n Sh1ael-2008 =1 3T

Joiiehd STOIed] e vl W=

HYed WRIEl oY 9T Bl 2

(A) TS Al ST JeSie Hu
(B) Thel AR (U1 9RIQRT Seen
(C) WNIERI &l o Wil Al

(D) WFIERI |eel, @IsFl &l

(o [ad bad La
S ICEIEEMCRE

Sl oo e 1 ot L | s 11 B S RA
TGS S o Hei=n TRgel Ated
TAT HFRT-2002 =T AT TR
fawre el smE ?

(A) HeH-65
(B) eH-66
(C) HeH-62
(D) Hem-67
Hifgd=T el 8 e IURYd &0 o

ST AT L0 AFATIN Fared Al © faam
ATfedi=T H1a81-2005 AT HI0THT
sT=ereft frfed sme ?

(A) HeH-3

(B) =e™-2(h)
(C) =e™-2(n)
(D) =he™-2(3)




90.

91.

92.

Artistic work such as musical work,
film, poems are included under
which category of intellectual
property rights ?

(A) Patent

(B) Trademark

(C) Copyright

(D) Intangible Right

As per Sec. 288A of the Income Tax
Act, the taxable income shall be
rounded off to the nearest multiple

(A) Rs. 1,000
(B) Rs. 100
(C) Rs. 10
(D) Re. 1
Income Tax is collected on all types
of income except

(A) Income from salary
(B) Income from Lottery
(C) Agriculture Income

(D) Income from Capital Gain

90.

91.

92.

APR - 50224/I1—A

HellcHer goiel hrd W9 i HTd,
fesue, e A1 HEY Siigew Gual
SATYRR= R &G I ?
(A) THEATIERR

(B) =Ml fo=g

(C) WA HeRR

(D) *15¥a ATHHR

SR FECAT TheAd 288 31 =1 3T
I AT WATATRT IV TG

Tsiieh=A1 qUliehid HHTS HT0 Ad ?
(A) Rs. 1,000

(B) Rs. 100

(C) Rs. 10

(D) Re. 1

EeToTdeh] ShIUTCT ScA=IT= SIS STead
A YR SqER 3R TRl

(A) TR 3T
(B) <fe{iurd 3cq—

(C) FHIRA Icq—
(D) wissell TNIHT 3

93. As per Income Tax Act which of the | 93, s FrEREHER= 3= Tefei]
following property income is not ] Q‘Jmmlqlij\"lt\l ST HI TR ?
exempted from tax ?

(A) Income from Farm House (A) e = SNERER
(B) Property income of a local (B) Tfe WIferehioi=a duxi 3cq—
authority
C) wre=tal (Letout) Tfadiwan
(C) Income from letout of house (©) N (Letout) ¢
SO 3cq
property
(D) Property income of a political (D) TSTEhIT T&T= H'Hrlﬁlql%y T STeTel
party I
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94.

95.

96.

97.

As per Income Tax Act (Refering old
regime of taxation) the special
allowance is granted to the members
of armed forces in the nature of
Island (duty) allowance in Andaman
and Nicobar and Lakshadweep
group of Islands is exempted upto
.......... per month.
(A) % 5,000 p.m.
(B) ¥ 3,000 p.m.
(C) T 6,000 p.m.
(D) T 3,250 p.m.
Tax is deducted at source U/s. 194B
and 194BB on payments in respect
of winnings from lotteries or
crossword puzzle or card games and

other game of any sort exceeding
% 10,000 is at
(A) 10%

(B) 20%

(C) 25%

D) 30%

As per provision of section 80U of
the Income Tax Act, if the taxpayers
suffers less than 40% of any
disability, then the deduction is
available upto ......................... .

(A) ¥ 1,25,000

(B) ¥ 1,00,000

(C) ¥ 75,000

(D) ¥ 50,000

For which of the following type of
transaction harber rules as per
Income Tax Act Sec. 92CB are not
applicable ?

(A) Software Development Services
(B) Information Technology
Enabled Services

Beauty Care Services
Manufacture and Export of core
Auto Components

(&)
(D)

94.

95.

96.

97.

APR - 50224/11—A

SHldend ehldcRll=dl 3 <k d-IIOhI{Un
YGAITIR TG, SEHM R AT e
fagre s wioas
3TR.
(A) T 5,000 Tt Hig
(B) T 3,000 Tt =g
(C) % 6,000 Wi Afe
(D) % 3,250 Wat wle
R hEeA=A shedH 194B 9 194BB
=1 =Y T, Tegehls, TN AHREA]
e Feied 3= 10,000 .

ﬁ?{‘ﬂ S STIEI SET
e kY KU hel Sid.

(A) 10%

(B) 20%

(C) 25%

(D) 30%

SATTHT HTICATAT ST 80U =A1
TIEITEN ST TEIeal FIGTere 40% e
STET ST AT AWTATH AT
.................... $ W aﬁ.

(A) 1,25,000 %.

(B) 1,00,000 =.

(C) 75,000 ®.

(D) 50,000 &.

TR IV FERRES! SRR
SHTICITTER S 32 & (§eX)
forsreh F1aH w1l o™ 92CB ] 8
e ?

(A) HREIR SHeqHe Hal

(B) Wifed! & TMER Eia da
(C) dicd Ieffasgen e

(D) = Wﬂﬁ?{ TAY e

it & i
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98.

99.

As per Income Tax Act, if a domestic
company has exercised the option of

Sec. coeeenennn.. , the provisions of

minimum alternative tax U/s 115JB

are not applicable.
(A) 105 AB

(B) 115 BAA

(C) 115 BA

(D) 115 JAB

Reducing or negating the tax
liability in legally permissible ways
and had legal sanction is called

AS cereeeeeieens .

(A) Tax Planning

(B) Tax Deduction
(C) Tax Concession

(D) Tax Avoidance

100. As per Income Tax, provision of

is applicable for double
taxation relief in case of specified

association.
(A) Sec. 90
(B) Sec. 91
(C) Sec. 90A
(D) Sec. 95

98.

99.

APR - 50224/I1—A

ST TER] YA RSl el
Y TR ST a1 Hu-re gJit

fFAE =1 FEQT hatd 115JB =1

TRl AT BId el
(A) 105 AB

(B) 115 BAA
(C) 115 BA

(D) 115 JAB

FIISI UHT Rer=A1 M0 W
AR HE HL oFal wfan fRar wm

...........

FUTT HL0] T Wihe
(A) FT FEeH
(B) T U

(C) =X Hadd

(D) =T FHANRI

100. =wreT fafyvsia Trem (fafeme) e

.................

hldQRl=H] enldgl eh¢tH

qedl AT HaeTd <] BId.
(A) HeH-90

(B) ®e™-91

(C) Hem-90A

(D) heH-95
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ROUGH WORK
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